Electronic Lock 1 2/10/20
—
pin 4 | memmp | Data  Shift — Ca D
POT m—- | pin AO pin 5 | =P | Clock Register I’
pin 6 | =====P | [atch
. —>
Arduino _—
PiN 12 | ey | LOCked ‘ G D)
Button | medp| pin 2 PIN13 | ey ‘
Do the "setup" to reflect the pin configuration above.
Turn "Shift Register 1" into a subroutine
Show " n .
/ called "readPot" as shown on the following
o ) # £ Locked
digitalWrite() ?Ff page.
—
digitalWrite() | §—°’—"—) Create new subroutines called
LW n n “" ”
_V——) blank" and “dash”.
ceat [f digitalRead() * ( Button / - S y J
while Commands [‘V , / Commanids [
delay ms millizecondz 5 10 s Lo
delay ms milliseconds / 500 _R)/J
. L
i (f digitairead() * { Button ) — [ Low ) J ?o/'J
= o
program while Commands | 1 eadPot blank o
delay ms milliseconds / 10 RS
M Lo
Show _LOJ
variable digitl P
int = A
value % gelectedNum —
/ Commands Hi
delaym millizeconds 5 500
\ Lo
test C_f digitalRead() * {Button ) — ( Low ) J B
while S readPot Lo
delay ms milliseconds 10 dash o
S — TechsEc:ce e
. earning Lo
int = el \ www.techspacelearning.org _L\o/_J
value selectedium
delay ms millizeconds { 500
cese (G - & )) The code is set by the Digit1 and
5 4 S wign
‘ C‘(m—u> - &) Digit2 in the "if" test.
— =W (eg2and7.)
then . / Tociea :
digitalWrite() (
e Push the button to start. Turn
i digttarmita() §&> dial to select number. Push the
e ) button when correct number
test f( digitaiRead() * { Button ) — [ wow ) ) | displayed. If the "Code" is correct
while Comnands [—V T / the unlock light will come on.
delay ms millizeconds L/
- c——— Push the button to relock.
delay ms milliseconds / 500
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readPot

Commands

—/
varxiable potValue
int = $‘__“
value £ analogRead() * ( Pot )
—
v-rhbhj selectedum >
int =
valua \< potvalue ;= £ 100 >/
——

test C< selectedion ) — % 0 )
then F\e:o
_v_(
test ‘< selectedum >=-
if then [:;
i m—
tast C< selectediun , —
if then [N
two l
b,
Xent (_< selecteatun ) = % 3 ;)
if
LA e mee
L =
*"*(< selectedion ) — % 4 )
if then
four
ﬁ,_f
LA ‘< selectedtum >— &5 /)

if

if

{1))

{27)

w () - )

fest << selectedion ) — £ 1 /)

o () - {0))

test << selectedium ) >= (T})

delay ms milliseconds < 10 /

)
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In the "if" statements include a
"selectedNum" that reflects the
number on the display.

This will remain the same when
the button is pushed and can be
used to insert into digit 1 in the
next step.
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